Contact our sales office regarding a delivery date or a price since this is a special model.

SP118F-001J

P:PT
@m P.G.Information (Specialized Product)
Conforming to NAMUR standards SMC CORPORATION
Interface Valve / VFN2120N-X23 oivoom,
VEN2120N-X36 URL: http://www.smcworld.com
Bl Features:

Hygienic design

-Resin body with less concaves

Direct cleaning of valve is possible (IP67).
3 port /5 port available

- Function plate realized 3 / 5 port selectable
Low power consumption

-Power consumption: 0.5W

(Conventional model: 1.8W) * DC specifications
Conforming to CE standards
Port threads: NPT1/4, G1/4 available

VFEN2120N-X23

Model \ Electrical entry
VEN2120N-X23 Vertical entry to piping port
VFN2120N-X36 Horizontal entry to piping port

B Specifications:
< Valve Specifications >
Fluid Air

Operating pressure range 0.15 to 0.9MPa

Ambient and fluid temperature -10 to +60°C

Lubrication Not required

Push type / Locking type (tool required)
Manual override
/ Locking type (manual type)

Enclosure Equivalent to IP67

Thread port size 1/4”

Flow characteristics 5
0.8/ 11mm

(Cv / Effective area)




< Electrical Specifications >
Rated voltage 24VDC

Allowable voltage fluctuation -15 to +10% of

Type of coil insulation Class B

Power consumption 0.5W

mHow to Order:

"IVFN2120N-X23 / VFN2120N-X36
VFEN2120N-5 >¢-02 N-2<2—-X23 A—X

Voltage &—— L e CE - compliant
5:24VDC Nil: -
Manual o Q: CE - compliant
N By —e Valve specifications

Nil: Push type
A: 3 port (Coil side: A port)

B: 5 port (Coil side: B port)
C: 3 port (Coil side: B port)

B: Locking type (Tool required)
C: Locking type (Manual type)

1/3/5 port thread size e—! D: 5 port (Coil side: A port)
02: 1/4”
1/3/5 port thread type &—— e Special configuration
N: NPT (Electrical entry)
F: G X23: Vertical entry to piping port
X36: Horizontal entry to piping port
Mounting thread type e o Check valve
Nil: UNF10-32 thread Nil: Available
M: M5x0.8 thread 0: Not available

N: No mounting thread

[JFunction plate Ass’y *

Model No. Valve specifications

AXT842-30-10-A 3 port (Coil side: A port)
AXT842-30-10-B 5 port (Coil side: B port)
AXT842-30-10-C 3 port (Coil side: B port)
AXT842-30-10-D 5 port (Coil side: A port)

* Valve specifications can be freely changed by changing the function plate.



B Dimensions: mm
1 VFN2120N-X23A

N1 o
N FT=] . ——=
E ’——_ ) ) Iu\ I ﬁ‘ B 5 |I'||'3
f —
- < , J SYMBOL
156 .5 2YUNF410-32 ,MBXD .8 MOUNTING SCREW
53.5 37 7 :
24 = f
O AR — B
[ViRE12IN-- 12k K2R gﬁ .
$ at 10 snt g <
) ! : - =
M12 CONNECTOR/ w 1
Iy ™ -
24Duck-bill check valve(3/5 part}/ by
MANUAL OVERRIDE 5@\ PORT1 =
LOCKING TYPE . ) PORT3
(TOOL REGUIRED), p [NON-LOCKING) b /. -
' I . @ —“-;jﬂm‘?-'
- f k== . Qg i 1 ol
- S| axBazt3p-hoa
PORTS,
LOCKING TYPE -
(MANUAL TYPEJ , 23.5 \ J23.5 X
= | 79 NPT ,G1/4" SUP. PORT
PORT2
PORTZ
~
— PIN NO.
q 1:NOT USED
: - o 2:NOT USED
E& 3:COM. (-)
1 4:14 SIDE SOL.{(+)
E:NOT USED

©  FIN NO, ASSIGMNMENT FOR M12 CONKECTOR




<& VFN2120N-X23B

v &
ay
tl [E— 1 R Rl =
i L [ 3tE
;EEEJ ] SYMBOL
156.5 ZYUNF@1D-32 M530,8 MOUNTING SCREW
-
q -
é - a
-
M12 CONMECTOR/ w
m
i 3]
:1] SxDuck-bill check walveidss mort) '
MANUAL OVERRIDE
- [ ]
LOCKINE TYRE [NOM-LOCK | NG}
{TOOL REGUIREDYM, N
- d -
i
LOCK I NG TYPE . =
[MANUAL TYPED, 23,5 " JE3.5 =
i L Te 4  \WPT,G1/4° SUP. PORT
1 C:Jjj e JL FORTA
— FIN MO,
1:HDT WSED
2:MDT WSED
3:COM. 4=
4:14 S510E SOL.(+]
1 5:WNO0T USED
PIM KO, ASSIGNWMENT FOR M12 COMMECTOR




< VFN2120N-X23C

q
L
IIEK IR
f \_'/ I TIE
[— -
il ) SYMBOL
156, 5 . 2XUNF#10-32,M5x0.8 MOUNTING SCREW
53,5 37 7
24l
@ 77t — T hH
—FE'_G]-lmlm-H“-EH / »
EE g Y N
— l,-'" | + - —
M12 CDNNECTDE:"‘I e J
m 1
2xDuck-bil| check valve(s/s oort) w
MANUAL DVERRIDE PORT 1
LOCKING TYPE . \ 5@\ 5 PORTS ¥
(TOOL REQUIRED), (NON-LOCKING) A, . N
' o 1A EERIE
- i e 'Q‘E‘J | ' m|”
[S] - <
FORT 3 nxT842130-h0c/ %
LOCKING TYPE " —
(MANUAL TYPED, y 23.5 L |23.s o
Vo N
78 \NPT,G1/4" SUP. PORT
FORTA
_PORT4
| PIN NO.
P
= 00 1:NOT USED
E[ f—\ 2:MOT USED
- - = \\p) B = ot 3:C0M, (-]
$ © 4:14 SIDE S0L.(+)
1 ) y 5:NOT USED
=L FIN NO, AS5IGNMEMT FOR M12 CONNECTOR
- 3'? -




< VFN2120N-X23D

11—l h
; VA | va A\ I%
g L— - SvmaoL
T

2yUNF210-32 M5x0,.8 MOUNTING SCREW

.37
-~ . _
= - 3
- | S -
7 h “_Eﬁ&};* <1
= == / | + I - =
L M12 CONNECTOR/ o [1
) o -
2xDuck-pill check valveld/s port}/ “ﬁ
MANUAL OVERRIDE PORT1
LOCKING TYPFE {HON-LOCKING) % — M =
{TOOL REGQGUIREDY, . ] -~
I ,—J: E -
_ oy _ W
= Nzu
- f
(=]
FORTS, '
LOCKING TYFE i o
(MANUAL TYPEJ| R e -
(P "WPT G1/54"° SUP. PORT
PORTZ
PORTZ
ey
—J PIN NO.
1:MOT USED
- 2:MOT USED
- - 1 3:COM. (-
é 4:14 SIDE SOL.(+}
1 5:NOT USED
24 PIN NO, ASSIGNMENT FOR M12 CONNECTOR
- -
- 3'? -




< VFN2120N-X36A

LOCK ING TYPE
(TOOL REGUTRED], MANUAL OVERRIOE
g [NOW-LOCK | NG} I.' |“I ” :
- Ny = [}
= .' R [\; I 1 P
__ L feee .y B
LOCKING TYPE f SYMBOL
(MANUAL TYPE T, =
I\'. / 55..5
i 78 2xUNF#10-32 M5x0.5 MOUNTING SCREW
M12 COMNECTOR/ {l
— 156.5 /f
37 !
uF :
i 24, /
[ex] |
purt} | a1 ra— -
CAmN =
HENELZIN-3C- 028 13.-" .
— _—_EI_-WW‘ '__q- -
MALE II-M_ . K}
_ —1
)
[
! .
,23.5 '\ |23.5 it
'NPT,G1/4" SUP, PORT
FIN WO,
1:NOT USED
— - - 2:NM0OT USED
3:COM, (=)
4:14 SIDE S50L, (4}
= 5:NOT USED
FIN KO. ASSIGHNMENT FOR M12 CONNECTOR

24

- 3T



< VFN2120N-X36B

LOCKING TYPE
(TOOL REGUIREDY,

LOCKING TYPE
(MANUAL TYFED,

LY

Il

MANUAL I:I'I'ER‘E][IEI
(NON-LOCKING} | 74
M .0 A
! W l'ﬂ: E TIT ﬂ
E .‘thl‘ '2_,;; r \ | l'-.\l A1k
i ] ! SYMBOL
T !
55,5
. 78 PxUNF#10-32 M5x0.8 MOUNTING SCREW
M12 CONNECTOR/ ///ﬁf
— 156.5 / )
37 /
wf 24/ f
m !
— - rll o —
(@] / —
ViNEL2INSC-020- 68| | -
- € wmrn gt 3 a -
MADE K akBiA J
m. J
| m !
ggOuck-bill check valve(3/5 port)/ o
PORT1
jmual
i
i =]
b AxTaaz-Fo-108
PORT LJ \
23,5 |\ |23.5 e

'NPT,G1/4" SUP, PORT

PORT2 ;t
™
©

o

PORTA
e
50

B-E—

3'2

©

24

- -
-

aw

PIN WO,

(SRR P C

PIN NO.
tNOT USED
tNOT USED

(COM, (=)
14 SIDE S0L.(+)

:NOT USED
ASSIGHNMENT FOR M12 CONNECTOR




< VFN2120N-X36C

LOCKING TYPE
(TOOL REQUIREDT T e

[NON-LOCKING} | r1 r]
f 4
: VA I L
S ; 4 r - B KT- <
T r Ll
. - @ A -4 -——L_“‘ I1E
LOCKING TYPE f SYMBOL
(MANUAL TYPE), i ) ’
N f: 55.5
. () 2xUNF#10-32 M5x0.8 MOUNTING SCREW
M12 CONNECTOR/ /f
— 156.5 ///} :
=
—
LI
AXTB42+30-10C/
PORT3/ [ \
L23.5_ \ J23.5 =
\NPT,G1/4" SUP. PORT
PIN NO.
1:NO0T USED
2:NOT USED
- - 3:COM. (=)
i 4:14 SIDE S0OL.(+})
5:NOT USED
— | ol FIN KO, ASS5]IGNMENT FOR M12 CONNECTOR
L24al |
37




< VFN2120N-X36D

LOCKING TYPE

{TOOL REGUIREDY,

MANUAL OVERRIOE
[NON-LOCK | NG !

=
—1

LOCKING TYPE

(MANUAL TYPED,

M12 CONNECTOR/

eR=R\Y] (N
by B1ad
SYMBOL

2xUNF#10-32 M5x0.E MOUNTING SCREW

U

s
o
:

FORTS.”

/\axTBaz:30-10D

_23.5_ \ J23.5 il
1 m
\NPT,G1/4" SUP. PORT

PIN NO.
| 1:NOT USED
9 E ™ 2:NDT USED
3:COM, (-)
_a_ 4:14 SIDE S0OL.(+)
. 5:NOT USED
24 17 PIN NO. ASSIGNMENT FOR M12 CONNECTOR
- =

A Caution To ensure the safest possible operation of this product, please be sure to read thoroughly

the “Safety Instructions” in our “Best Pneumatics” catalog before use
©2011 SMC Corporation All Rights Reserved




